N = 0l & AF & F Al A

SN HHS

B OIS YIMUAES U3t
BHel HAS FedE X2 (el =)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Al S 273,908 255,583 18,325
tHils dEMEIAES H3at 220,600 205,960 14,640
s =48 & 220,600 205,960 14,640
HES=LIXXIHE 2 15,000 15,000 0
201 LEHREH| 15,000 15,000 0
01 AtR2&cldl 15,000 15,000 0

OFUXXIHE 23 15,000,000& 14! 15,000
Hils =280 S 125,570 111,850 13,720
301 Lptsazg 125,570 111,850 13,720
05 &-cl-tEasEas 124,570 110,850 13,720
Os&=¢ 200,000& »3401 « 12 81,600
OsS&E&M= 200,000& *34021%23] 13,600
Os&ae=< 20,0003 »3401+25|x12& 16,320
Ot &=l 50, 000& 26121 13,050
10 BAIAHIENS 1,000 1,000 0
Ou=s A dMS FAL HUIE2Y
1,000,000& =14 1,000
HHls FA2g2e 18,635 21,675 A3,040
201 LEH23H] 18,635 21,675 A3,040
02 =224 18,635 21,675 23,040
Ozs3g= & AMA 12,535,000 * 14! 12,535
O =l 4,100,000 *14] 4,100
OAlEEbBIS Xl 2,000,000& =14 2,000
Hs dEXA 53,395 50,435 2,960
201 LEHRHH| 22,095 19,055 3,040
01 AtS2cldl 13,095 14,055 A 960
Ogtt=ZH| 13,095,000 *14] 13,095
02 232944l 9,000 5,000 4,000
ORER= 9,000,000 * 14 9,000
202 OHl 25,000 28,080 A3,080
01 SLHAHI 25,000 28,080 A 3,080
OJl2g==30d(132!) 2,000,000& 122 24,000
O&2l0tl 1,000, 000& * 14! 1,000
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ Hws2
405 R&HH S 6,300 3,300 3,000
01 RALSEFSH 6,300 3,300 3,000
OPC 1,300, 00021 #2CH 2,600
OLE=3] 50,0002 *3CH 150
O=i4 150,000 *5H 750
O#AE Xt 10,0002 * 1074 1,000
OAts! 30000021+ 14 300
OBISIA LD TV 1,500,0002! * 14 1,500
SIS AN 8,000 7,000 1,000
405 R&HH S 8,000 7,000 1,000
01 RULSEFSH] 8,000 7,000 1,000
O oA 22Dl 8,000,000 *14! 8,000
SIS AR B 2,065 1,975 9
SHE ARSFUSRALL 2,065 1,975 9
SE T2y 2,065 1,975 9
101 Q121 2,065 1,975 9
10 JIAM2ENS2+ 2,065 1,975 9
O=2 Z2l(HM&) 2 2 Iyl
41,3002 %501 %102 2,065
SIS BE2Y P 51,243 47,648 3,505
SIS o2yl 38,603 38,088 515
Ss o2yl 33,603 38,088 515
101 Q12| 29,083 28,568 515
02 +g 29,083 28,568 515
OAIRIe 2R 4 Y 7,457 %1321 300Al 2+ 29,083
203 Pe=XY| 9,520 9,520 0
IPEEEEEETT 6,000 6,000 0
OJlB2YYLRE Y| 6,000,0002! *1¢! 6,000
02 HRAJMARZZY] 520 520 0
OFAINNYLRE Y| 40,0001 * 132! 520
04 FNSYALEY 3,000 3,000 0
ORNSYYLEAY| 250,000% 122 3,000

HAHlsS Jl=2&l 12,640 9,560 3,080
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ

SIS D123 12,640 9,560 3,080

201 L2l 7,560 7,560 0

01 AF=2Z2/| 7,560 7,560 0
ORN2ZE==8HI 5,376,000 * 14! 5,376
O3l 7,0008 x1301%23| 128 2,184

202 ofdl 5,080 2,000 3,080

NEEICE 5,080 2,000 3,080
OJl2gR 0t 340,0009 » 122 4,080
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